107R—103114 |REV.: 3 |

i

@ 11/16" HOLE 4 PLACES
FOR 5/8" BOLT
(BY OTHERS)

REV.

DESCRIPTION DATE BY

YRSM3 SEISMIC MOUNT

LOAD RANGE [DEFLECTION AT| MAX. AXIAL

(LBS) LOAD (IN) DEFL. (LB/IN)
YRS M3-400Z 400 0.15 0.50
YRSM3-700Z 700 0.15 0.50
YRS M3-1000Z 1000 0.15 0.50
YRS M3-1300Z 1300 0.15 0.50
YRSM3-1600Z 1600 0.15 0.50
YRSM3-2300Z 2300 0.15 0.50

61/2

3

5/8"-11 UNC GRADE 8 BOLT
5/8" STD. WASHER

EQUIPMENT BASE
/_ 3/8 THK. LOAD BEARING WASHER

PART #
MODEL

INK STAMP

47/8

®

NOTES:
1. ALL DIMENSIONS ARE IN INCHES. INTERPRET PER ANSI Y14.
2. ALL DIMENSIONS ARE NOMINAL AND FOR REFERENCE ONLY.
3. APPROX. WEIGHT: 14.8 LBS
4. FINISH: ELECTRO-ZINC PLATED.

LOWER SNUBBING WASHER-FACTORY INSTALLED,
REQ'D FOR FAIL-SAFE OPERATION

ISOLATOR SELECTIONS
LOC 1: LoC 2
LOC 3: LOC 4
LOC 5: LOC 6
LOC 7: LOC 8
LOC 9: LOC 10:
LOC 11: LOC 12:

CUSTOMER EQP'T. TAG:

5. MOUNT INCLUDES LOAD BEARING WASHER, 5/8"-11 UNC GRADE 8 BOLT AND 5/8" STD. WASHER.
6. MOLDED METAL AND ELASTOMER MOUNT DESIGNED FOR FAIL-SAFE "CAPTIVE","MOBILE" OR "SEISMIC" APPLICATIONS. LOWER
SNUBBING WASHERS ARE FACTORY INSTALLED FOR A FAIL SAFE OPERATION. CONSULT VMC FOR APPLICABILITY AND LIMITS.

NOTE: MATERIAL SHOWN IS FOR (1) SET.

OTHER MATERIALS, COMPOUNDS, OR FINISHES WITH EQUAL OR SUPERIOR
PROPERTIES MAY BE SUBSTITUTED AS THEY BECOME AVAILABLE.

CERTIFIED FOR:

JOB NAME:

CUSTOMER :

CUSTOMER P.O.:

SALES ORDER:

MODEL YRSMS3 400-2300 LBS.
SEISMIC MOUNT
ELECTRO ZINC PLATED

THE VMC GROUP

SCALE :
NONE

DRAWING NO.: REVISION

The Power of Together
Bloomingdale, NJ 07403

Houston, TX 77041

PROPRIETARY: EXCEPT AS OTHERWISE AGREED IN WRITING, THE INFORMATION AND DESIGN DISCLOSED HEREIN ARE THE PROPERTY OF THE VMC GROUP AND MUST NOT BE COPIED OR DISTRIBUTED OUTSIDE THE VMC GROUP EXCEPT TO AUTHORIZED PERSONS WITH A GENUINE NEED TO KNOW
WHO BY THE USE HEREOF ACKNOWLEDGE THE VMC GROUP'S OWNERSHIP AND AGREE TO MAINTAIN THIS INFORMATION AND DESIGN IN STRICT CONFIDENCE.




	REV: 
	DESCRIPTION: 
	DATE: 
	BY: 
	LOC 1: 
	LOC 2: 
	LOC 3: 
	LOC 4: 
	LOC 5: 
	LOC 6: 
	LOC 7: 
	LOC 8: 
	LOC 9: 
	LOC 10: 
	LOC 11: 
	LOC 12: 
	CUSTOMER EQUIP TAG: 
	JOB NAME: 
	CUSTOMER: 
	CUSTOMER PO: 
	SALES ORDER: 
	SHEET 1: 
	DRAWING NO: 


